SMILES

WHOLE NUMBER (Properties of Division)

(a) Divide 29,374 by 45 and check the answer using division algorithm.

(b) Divide 12,78,234 by 125 and check the answer using division algorithm.

(c) The product of two numbers is 589,950. If one number is 874, find the other number.
Check the answer using division algorithm.

(d) Find the number which when divided by 784 gives quotient 30 and remainder 15.

(e) Divide the largest 5-digit number by the smallest 5-digit number formed by using the digit 3
9 0 2 and check the answer using division algorithm.



